Multi-step Measurement Worksheets
(Customary Units)

3. One pumpkin weighs 7 pounds 12 ounces. A second pumpkin weighs 10 pounds 4 ounces. A third
pumpkin weighs 2 pounds 9 ounces more than the second pumpkin. What is the total weight of all three
pumpkins?

4, Mr. Lane is 6 feet 4 inches tall. His daughter, Mary, is 3 feet 8 inches shorter than her father. His son is
9 inches taller than Mary. How many inches taller is Mr. Lane than his son?
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4. Mr. Lane is 6 feet 4 inches tall. His daughter, Mary, is 3 feet 8 inches shorter than her father

. His son is
9 inches taller than Mary. How many inches taller is Mr, Lane than his son?
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